



Neutrosophic Approach on Normed Linear Space

Prakasam Muralikrishna¹ and Dass Sarath Kumar²

PG and Research Department of Mathematics,
Muthurangam Government Arts College (Autonomous), Vellore, Tamil Nadu, India.
Email: pmkrishna@rocketmail.com¹, sharathdass0996@gmail.com²

Abstract: This paper proposed the idea of Neutrosophic norm in a linear space. An attempt has been made to find some related results in Neutrosophic normed linear space and study the Cauchy sequence and completeness in this structure.

Keywords: Linear space, Norm, Co-norm, Fuzzy Set, Fuzzy Norm, Neutrosophic norm, Neutrosophic normed linear space.

1. Introduction

This section gives the basic introduction about the present work starting with Literature survey, Scope and objective and chapter distribution.

1.1. Literature Survey:

The notion of normed linear space plays a major role in Functional Analysis. Dimension in normed linear space has attracted researchers to a greater extent. Gähler (1965) took effort in developing the structure of 2-normed linear space and n-normed linear space. Recently many researchers have engaged themselves in developing the theory of n-normed linear space. Zadeh (1965) [40], introduced fuzzy set in his pioneering work which is a remarkable theory to deal with uncertainty. He stated that a fuzzy set assigns a membership value to each element of a given crisp universe set from $[0, 1]$. This notion laid the foundation for a wide range usage of Mathematics and also applied to a great variety of real-life scenarios. Later Atanassov (1986) [11-13], focused intuitionistic fuzzy set, which is characterized by a membership function and non-membership function for each in the Universe and then Smarandache (1998-2005) [2 - 4] developed another idea called Neutrosophic set by adding an intermediate membership. Maji (2013) also dealt about this Neutrosophic concept. Felbin (1992) [19,20,21] assigned a fuzzy real number to each element of the linear space and introduction another idea of fuzzy norm on a linear space and also proved that a finite dimensional fuzzy normed linear space has a unique fuzzy norm on it up to fuzzy equivalence. Further in 1993 he discussed about the completion of fuzzy normed linear spaces and in 1993 he proved that any finite dimensional fuzzy normed linear space is necessarily complete.

Beg & Samanta (2003) [14 - 17] introduced a definition of fuzzy norm on a linear space. They also provided a decomposition theorem of fuzzy norms into a family of crisp norms and studied the properties of finite dimensional fuzzy normed linear spaces. This paper motivated Narayanan et.al to develop the theory of fuzzy n-normed linear space. Santhosh & Ramakrishnan (2011) [36] introduced the concepts of norm and inner product on fuzzy linear spaces over fuzzy fields. Then Vijayabalaji (2008) [38, 39] et.al studied the idea of interval valued fuzzy n-normed linear spaces. Later Vijayabalaji (2007) et.al, Samanta (2009) et.al, and Issac (2012) [25] et.al dealt the

concepts of normed linear spaced with intuitionistic fuzzy settings. Recently Sandeep Kumar (2018) discussed some results on Interval valued intuitionistic fuzzy n-normed linear space.

1.2. Scope and Objective of the Present Investigation:

The present study is aimed to extend the structures of fuzzy normed linear space into Neutrosophic normed linear space. An attempt has been made to study some elegant results in this structure through Neutrosophic norm and analyze the Cauchy sequences on Neutrosophic Normed linear space. The paper is classified into the following sections: Section 1 shows the introduction and section 2 gives some basic definitions and properties of linear space, fuzzy set, t-norm, t-conorm, fuzzy normed linear space etc., Section 3 deals the Neutrosophic normed linear space and discussed their properties. Section 4, ends with concluding remarks and future scope of the study.

2. Preliminaries

This section recalls the basis definitions and results that are necessary for the present work.

Definition 2.1. [14] A linear space (or vector space) V over a field F consist of the following

1. A field F of scalars.
2. A set V of objects called vectors
3. A rule (or operation) called vector addition which associates with each pair of vectors, $u, v \in V$ a vector $u + v \in V$ called the sum of u and v in such a way that
 - Addition is commutative,
 - Addition is associative
 - There is unique vector in u in V called the zero vector, such that $u + 0 = u \forall u \in V$
 - For each vector $u \in V$, there is unique vectors $-u \in V$ such that $u + (-u) = 0$.
4. A rule (or operation) called scalars multiplication which associates with each scalar $a \in F$ and vector and $u \in V$ in such a way that
 - $1.u = u \forall u \in V$ and $1 \in F$
 - $ab(u) = a(bu) \forall a, b \in F$ and $\forall u \in V$
 - $a(u + v) = au + av \forall a \in F$ and $\forall u, v \in V$
 - $(a + b)u = au + bu \forall a, b \in F$ and $\forall u \in V$

It is denoted as $(V, +, \cdot)$ is a linear space.

Definition 2.2. [14]A nonnegative function on a linear vector space V , $\|\cdot\| : V \rightarrow [0, \infty)$ is called a norm if

1. $\|x\| = 0$ if and only if $x = 0$;
2. $\|x + y\| \leq \|x\| + \|y\|$ for all $x, y \in V$ (the triangular inequality)
3. $\|\alpha x\| = |\alpha| \|x\|$ for all $x \in V$ and $\alpha \in F$

Definition 2.3. [14]A normed linear space is a linear space V with a norm $\|\cdot\|_V$ on it.

Definition 2.4. [40] A fuzzy set A in X is defined as an object of the form $A = \{(x, \mu_A(x)) : x \in X\}$, where $\mu_A(x)$ is called the membership function of x in X which maps X to the unit interval $I = [0, 1]$.

Definition 2.5. [11]An intuitionistic fuzzy set A in a nonempty set X is defined as an objects of the form $A = \{(x, \mu_A(x), \vartheta_v(x)) : x \in X\}$ where the functions $\mu_A : X \rightarrow [0, 1]$ and $\vartheta_A : X \rightarrow [0, 1]$ defined the degree of membership and degree of non-membership of the element $x \in X$ respectively, and for $0 \leq \mu_v(x) + \vartheta_v(x) \leq 1 \forall x \in X$.

An ordinary fuzzy set A in X may be viewed as special intuitionistic fuzzy set with the non-membership function $\vartheta_A(x) = 1 - \mu_A(x)$.

Definition 2.6. Let $[I]$ be the set of all closed sub intervals of the interval $[0,1]$ and $M = [M_L, M_U] \in [I]$ where M_L and M_U are the lower extreme and upper extreme, respectively. For a set X , an IVFS (Interval Valued Fuzzy Set) A on X given by

$$A = \{ \langle x, M_A(x) \rangle / x \in X \}$$

where the function $M_A : X \rightarrow [0,1]$ defines the degree of membership of an element x on A , and $M_A(x) = [M_{AL}(x), M_{AU}(x)]$ called an interval valued fuzzy number.

Definition 2.7. For a set X , an IVIFS (Interval Valued Intuitionistic Fuzzy Set) A on X is an objects having the form $A = \{ \langle x, M_A(x), N_A(x) \rangle / x \in X \}$ where $M_A : X \rightarrow [I]$ and $N_A : X \rightarrow [I]$ represents the degree of membership and non-membership $0 \leq \sup(M_A(x)) + \sup(N_A(x)) \leq 1$ for every $x \in X$ $M_A(x) = [M_{AL}(x), M_{AU}(x)]$ and $N_A(x) = [N_{AL}(x), N_{AU}(x)]$
Hence $A = \{ [M_{AL}(x), M_{AU}(x)], [N_{AL}(x), N_{AU}(x)] \}$ is called IVIFS.

Definition 2.8. [14] Let X be a linear space over the field F (real or complex) and $*$ is a continuous t-norm. A fuzzy subset N on $X \times \mathbb{R}$ (\mathbb{R} -set of all real numbers) is called a fuzzy norm on X if and only if for $x, y \in X$ and $c \in F$,

- (N1) $\forall t \in \mathbb{R}$ with $t \leq 0, N(x, t) = 0$
- (N2) $\forall t \in \mathbb{R}$ with $t > 0 N(x, t) = 1$, iff $x = 0$
- (N3) $t \in \mathbb{R}, t > 0$
 $N(cx, t) = N(x, \frac{t}{|c|})$. If $c \neq 0$
- (N4) $\forall s, t \in \mathbb{R}, x, y \in X,$
 $N(x+y, t+s) \geq N(x, t) * N(y, s)$
- (N5) $\lim_{t \rightarrow \infty} N(x, t) = 1$.

The triplet $(X, N, *)$ will be referred to as a fuzzy normed linear space.

Definition 2.9. [25] A binary operation $*: [0, 1] \times [0, 1] \rightarrow [0, 1]$ is continuous t-norm if $*$ satisfies the following conditions:

1. $*$ is commutative and associative
2. $*$ is continuous
3. $a * 1 = a$, for all $a \in [0, 1]$
4. $a * b \leq c * d$ whenever $a \leq c$ and $b \leq d$ and $a, b, c, d \in [0, 1]$.

Definition 2.10. A binary operation $\diamond: [0, 1] \times [0, 1] \rightarrow [0, 1]$ is continuous t-co-norm if \diamond satisfies the following conditions:

1. \diamond is commutative and associative
2. \diamond is continuous
3. $a \diamond 0 = a$, for all $a \in [0, 1]$
4. $a \diamond b \leq c \diamond d$ whenever $a \leq c$ and $b \leq d$ and $a, b, c, d \in [0, 1]$.

Definition 2.11 Let $*$ be a continuous t-norm, \diamond be a continuous t-co-norm, and V be a linear space over the field $F (= R \text{ or } C)$. An intuitionistic fuzzy norm or in short *IFN* on V is an object of the form $A = \{ ((x, t), N(x, t), M(x, t)) : (x, t) \in V \times \mathbb{R}^+, \text{ where } N, M \text{ are fuzzy sets on } V \times \mathbb{R}^+, N \text{ denotes the degree of membership and } M \text{ denotes the degree of non-membership } (x, t) \in V \times \mathbb{R}^+ \text{ satisfying the following conditions:}$

1. $N(x, t) + M(x, t) \leq 1 \forall (x, t) \in V \times \mathbb{R}^+$
2. $N(x, t) > 0$
3. $N(x, t) = 1$ if and only if $x = 0$

4. $N(cx, t) = N\left(x, \frac{t}{|c|}\right), c \neq 0, c \in F$
5. $N(x, s) * N(y, t) \leq N(x + y, s + t)$
6. $N(x, \cdot)$ is non – decreasing function of \mathbb{R}^+ and $\lim_{t \rightarrow \infty} N(x, t) = 1$
7. $M(x, t) > 0$
8. $M(x, t) = 0$ if and only if $x = 0$
9. $M(cx, t) = M\left(x, \frac{t}{|c|}\right), c \neq 0, c \in F$
10. $M(x, s) \diamond M(y, t) \geq M(x + y, s + t)$
11. $M(x, \cdot)$ is non – increasing function of \mathbb{R}^+ and $\lim_{t \rightarrow \infty} M(x, t) = 0$.

Then the quadruple $(V, A, *, \diamond)$ will be referred as a intuitionistic fuzzy normed linear space.

3. Neutrosophic Approach on Normed Linear Space

This section introduces the idea of Neutrosophic normed linear space using the notion of Neutrosophic set. Further, some result related to Cauchy sequence on Neutrosophic normed linear space are also dealt.

3.1 Neutrosophic Norm:

Here Neutrosophic norm is defined with suitable example. Further the convergence of sequence in NNLS and some properties also studied.

Definition 3.1. [33] Let S be a space of points (objects). A NS N on S is characterized by a truth-membership function ρ , an indeterminacy membership function ξ , and a falsity-membership function η , where $\rho(x), \xi(x)$ and $\eta(x)$ and real standard and non-standard subset of $]0, 1^+[$ i.e., $\rho, \xi, \eta : X \rightarrow]0, 1^+[$. Thus the NS N over S is defined as:

$$N = \{ \langle x, (\rho(x), \xi(x), \eta(x)) \rangle \mid x \in S \}$$

On the same of $\rho(x), \xi(x)$ and $\eta(x)$ there is no restriction and so $0 \leq \sup \rho(x) + \sup \xi(x) + \sup \eta(x) \leq 3^+$. Here $1^+ = 1 + \epsilon$, where 1 is its standard part and ϵ its non-standard part. Also, $0^- = 0 - \epsilon$ where 0 is its standard part and ϵ its non-standard part.

From philosophical point of view, a NS takes the value from real standard or nonstandard subsets of $]0, 1^+[$. But to practice in real scientific and engineering areas, it is difficult to use NS with value from real standard or nonstandard subset of $]0, 1^+[$. Hence, we consider the NS which takes the value from the subset of $[0, 1]$.

Definition 3.2. Let V be a linear space field $F = (\mathbb{R} \text{ or } \mathbb{C})$ and $*$ be a continuous t – norm, \diamond be a continuous t – co – norm. Then, a Neutrosophic subset $N : \langle \rho, \xi, \eta \rangle$ on $V \times F$ is called a Neutrosophic norm on V if for $x, y \in V$ and $c \in F$ (c being scalar), if the following conditions hold.

1. $0 \leq \rho(x, t), \xi(x, t), \eta(x, t) \leq 1, \forall t \in R$
2. $0 \leq \rho(x, t) + \xi(x, t) + \eta(x, t) \leq 3, \forall t \in R$
3. $\rho(x, t) = 0$ with $t \leq 0$
4. $\rho(x, t) = 1$ with $t > 0$ iff $x = 0$, the null vector
5. $\rho(cx, t) = \rho\left(x, \frac{t}{|c|}\right), \forall c \neq 0, t > 0$
6. $\rho(x, s) * \rho(y, t) \leq \rho(x + y, s + t) \forall s, t \in R$
7. $\rho(x, \cdot)$ is continuous non – decreasing function for $t > 0, \lim_{t \rightarrow \infty} \rho(x, t) = 1$
8. $\xi(x, t) = 1$ with, $t \leq 0$
9. $\xi(x, t) = 0$ with $t > 0$ iff $x = 0$, the null vector

10. $\xi(cx, t) = \xi\left(x, \frac{t}{|c|}\right), \forall c \neq 0, t > 0$
11. $\xi(x, s) \diamond \xi(y, t) \geq \xi(x + y, s + t) \forall s, t \in R$
12. $\xi(x, \cdot)$ is a continuous non-increasing function for $t > 0, \lim_{t \rightarrow \infty} \xi(x, t) = 0$
13. $\eta(x, t) = 1$ with, $t \leq 0$;
14. $\eta(x, t) = 0$ with $t > 0$ iff $x = 0$, the null vector;
15. $\eta(cx, t) = \eta\left(x, \frac{t}{|c|}\right), \forall c \neq 0, t > 0$
16. $\eta(x, s) \diamond \eta(y, t) \geq \eta(x + y, s + t) \forall s, t \in R$
17. $\xi(x, \cdot)$ is a continuous non-increasing function for $t > 0, \lim_{t \rightarrow \infty} \eta(x, t) = 0$;

Further $(V, N, *, \diamond)$ is Neutrosophic normed linear space (NNLS).

Example3.3.

Let $(V, \|\cdot\|)$ be a normed linear space. Take $a * b = ab$ and $a \diamond b = a + b - ab$. Define,

$$\begin{aligned} \rho(x, t) &= \begin{cases} \frac{t}{t+||x||} & \text{if } t > ||x|| \\ 0 & \text{otherwise.} \end{cases} \\ \xi(x, t) &= \begin{cases} \frac{x}{t+||x||} & \text{if } t > ||x|| \\ 1 & \text{otherwise.} \end{cases} \\ \eta(x, t) &= \begin{cases} \frac{||x||}{t} & \text{if } t > ||x|| \\ 1 & \text{otherwise.} \end{cases} \end{aligned} , \text{ Then } (V, N, *, \diamond) \text{ is an NNLS.}$$

Proof:

All the conditions are obvious except the condition (6), (11), (16). For $s, t > 0$ because these are clearly true for $s, t \leq 0$.

$$\begin{aligned} \text{Now, } \rho(x + y, s + t) - \rho(x, s) * \rho(y, t) &= \frac{s + t}{s + t + ||x + y||} - \frac{st}{(s + ||x||)(t + ||y||)} \\ &\geq \frac{s + t}{s + t + ||x + y||} - \frac{st}{(s + ||x||)(t + ||y||)} \\ &= \{(s + t)(s + ||x||)(t + ||y||) - st(s + t + ||x|| + ||y||)\} / \aleph \end{aligned}$$

$$\begin{aligned} \text{Where } \aleph &= (s + t + ||x|| + ||y||)(s + ||x||)(t + ||y||) \\ &= \{t^2||x|| s^2||y|| + (s + t)||xy||\} / \aleph \geq 0. \end{aligned}$$

Hence, $\rho(x, s) * \rho(y, t) \leq \rho(x + y, s + t), \forall s, t \in R$

$$\begin{aligned} \xi(x, s) \diamond \xi(y, t) - \xi(x + y, s + t) &= \frac{||x||}{s + ||x||} + \frac{||y||}{t + ||y||} - \frac{||xy||}{(s + ||x||)(t + ||y||)} - \frac{x + y}{||x + y|| + s + t} \\ &= \frac{||xy|| + t||x|| + s||y||}{(s + ||x||)(t + ||y||)} - \frac{||x + y||}{||x + y|| + s + t} \end{aligned}$$

$$= \{ (||x + y|| + s + t)(t||x|| + s||y|| + ||xy||) - ||x + y|| (s + ||x||)(t + ||y||) \} / D$$

Where $D = (s + t + ||x + y||)(s + ||x||)(t + ||y||)$

$$\begin{aligned}
 &= \{(s + t)(t|x| + s|y| + |xy|) - st|x + y|\}/D \\
 &\geq \{(s + t)(t|x| + s|y| + |xy|) - st(|x| + |y|)\}/D \\
 &= \{t^2|x| + s|y| + (s + t)|xy|\}/D \geq 0.
 \end{aligned}$$

Hence, $\xi(x, s) \diamond \xi(y, t) \geq \xi(x + y, s + t), \forall s, t \in R.$

Finally $\eta(x, s) \diamond \eta(y, t) \geq \eta(x + y, s + t)$

$$\begin{aligned}
 &= \frac{|x|}{s} + \frac{|y|}{t} - \frac{|xy|}{st} - \frac{|x + y|}{s + t} \\
 &= \frac{t|x| + s|y| - |xy|}{st} - \frac{|x + y|}{s + t} \\
 &\geq \{s^2|y| + t^2|x| - (s + t)|xy|\}/st(s + t) \\
 &= \{s|y|(s - |x|) + t|x|(t - |y|)\} / st(s + t) \geq 0, \text{ (as } s > |x|, t > |y|).
 \end{aligned}$$

Thus, $\eta(x, s) \diamond \eta(y, t) \geq \eta(x + y, s + t), \forall s, t \in R.$ This completes the proof.

Definition 3.4. Let $\{x_n\}$ be a sequence of points in a NNLS $(V, N, *, \diamond).$ Then the sequence converges to a point $x \in V$ if and only if for given $r \in (0, 1), t > 0$ there exist $n_0 \in N$ (the set of natural numbers) such that

$$\rho(x_n - x, t) > 1 - r, \xi(x_n - x, t) < r, \eta(x_n - x, t) < r, \forall n \geq n_0.$$

(or)

$$\lim_{n \rightarrow \infty} \rho(x_n - x, t) = 1, \lim_{n \rightarrow \infty} \xi(x_n - x, t) = 0, \lim_{n \rightarrow \infty} \eta(x_n - x, t) = 0, t \rightarrow \infty$$

Then the sequence $\{x_n\}$ is called a convergent sequence in the NNLS $(V, N, *, \diamond).$

Theorem 3.5.

If the sequence $\{x_n\}$ in a NNLS $(V, N, *, \diamond)$ is convergent, then the point of convergence is unique.

Proof:

Let $\lim_{n \rightarrow \infty} x_n = x$ and $\lim_{n \rightarrow \infty} x_n = y$ for $x \neq y$. Then for $s, t > 0$,

$$\lim_{n \rightarrow \infty} \rho(x_n - x, s) = 1, \lim_{n \rightarrow \infty} \xi(x_n - x, s) = 0, \lim_{n \rightarrow \infty} \eta(x_n - x, s) = 0, \text{ as } s \rightarrow \infty \text{ and}$$

$$\lim_{n \rightarrow \infty} \rho(x_n - x, t) = 1, \lim_{n \rightarrow \infty} \xi(x_n - x, t) = 0, \lim_{n \rightarrow \infty} \eta(x_n - x, t) = 0, \text{ as } t \rightarrow \infty$$

Now,

$$\rho(x - y, s + t) = \rho(x - x_n + x_n - y, s + t) \leq \rho(x_n - x, s) * \rho(x_n - y, t)$$

Taking limit as $n \rightarrow \infty$ and for $s, t \rightarrow \infty$,

$$\rho(x - y, s + t) \geq 1 * 1 = 1 \text{ i.e., } \rho(x - y, s + t) = 1$$

Further,

$$\xi(x - y, s + t) = \xi(x - x_n + x_n - y, s + t) \leq \xi(x_n - x, s) \diamond \xi(x_n - y, t)$$

Taking limit as $n \rightarrow \infty$ and for $s, t \rightarrow \infty$,

$$\xi(x - y, s + t) \leq 0 \diamond 0 = 0 \text{ i.e., } \xi(x - y, s + t) = 0$$

Similarly, $\eta(x - y, s + t) = 0$

Hence, $x = y$ and this complete the proof.

Theorem 3.6.

In an NNLS $(V, N, *, \diamond)$, if $\lim_{n \rightarrow \infty} (x_n) = x$ and $\lim_{n \rightarrow \infty} (y_n) = y$ then $\lim_{n \rightarrow \infty} (x_n + y_n) = x + y$

Proof:

Here, for $s, t > 0$

$$\lim_{n \rightarrow \infty} \rho(x_n - x, s) = 1, \lim_{n \rightarrow \infty} \xi(x_n - x, s) = 0, \lim_{n \rightarrow \infty} \eta(x_n - x, s) = 0, \text{ as } s \rightarrow \infty \text{ and}$$

$$\lim_{n \rightarrow \infty} \rho(y_n - y, t) = 1, \lim_{n \rightarrow \infty} \xi(y_n - y, t) = 0, \lim_{n \rightarrow \infty} \eta(y_n - y, t) = 0, \text{ as } t \rightarrow \infty.$$

$$\text{Now, } \lim_{n \rightarrow \infty} \rho[(x_n + y_n) - (x + y), s + t] = \lim_{n \rightarrow \infty} \rho[(x_n - x) + (y_n - y), s + t],$$

$$\geq \lim_{n \rightarrow \infty} \rho(x_n - x, s) * \lim_{n \rightarrow \infty} \rho(y_n - y, t) [\text{by (6) in Definition 3.2}]$$

$$= 1 * 1 = 1 \text{ as } s, t \rightarrow \infty$$

Hence $\lim_{n \rightarrow \infty} \rho[(x_n + y_n) - (x + y), s + t] = 1$ as, $s, t \rightarrow \infty$. Again

$$\lim_{n \rightarrow \infty} \xi[(x_n + y_n) - (x + y), s + t] = \lim_{n \rightarrow \infty} \xi[(x_n - x) + (y_n - y), s + t]$$

$$\geq \lim_{n \rightarrow \infty} \xi(x_n - x, s) \diamond \lim_{n \rightarrow \infty} \xi(y_n - y, t) [\text{by (11) in Definition 3.2}]$$

$$= 0 \diamond 0 = 0 \text{ as } s, t \rightarrow \infty$$

$$\text{So, } \lim_{n \rightarrow \infty} \xi[(x_n + y_n) - (x + y), s + t] = 0 \text{ as } s, t \rightarrow \infty.$$

Similarly,

$$\lim_{n \rightarrow \infty} \eta[(x_n + y_n) - (x + y), s + t] = 0 \text{ as } s, t \rightarrow \infty. \text{ and this end the theorem.}$$

Theorem 3.7.

If $\lim_{n \rightarrow \infty} x_n = x$ and $0 \neq c \in F$, then $\lim_{n \rightarrow \infty} cx_n$ in an NNLS $(V, N, *, \diamond)$.

Proof:

Here,

$$\lim_{n \rightarrow \infty} \rho(cx_n - cx, t) = \lim_{n \rightarrow \infty} \rho\left(x_n - x, \frac{t}{|c|}\right) = 1, \text{ as } \frac{t}{|c|} \rightarrow \infty.$$

$$\lim_{n \rightarrow \infty} \xi(cx_n - cx, t) = \lim_{n \rightarrow \infty} \xi\left(x_n - x, \frac{t}{|c|}\right) = 1, \text{ as } \frac{t}{|c|} \rightarrow \infty.$$

$$\lim_{n \rightarrow \infty} \eta(cx_n - cx, t) = \lim_{n \rightarrow \infty} \eta\left(x_n - x, \frac{t}{|c|}\right) = 1, \text{ as } \frac{t}{|c|} \rightarrow \infty.$$

Thus, the theorem is proved.

3.2. Completeness on Neutrosophic Normed Linear Space:

Here the Cauchy sequence in NNLS and complete NNLS are introduced. Further several structural characteristics of complete NNLS also studied. .

Definition 3.8. A sequence $\{x_n\}$ of points in an NNLS $(V, N, *, \diamond)$ is said to be bounded for $r \in (0,1)$ and $t > 0$. if the following hold:

$$\rho(x_n, t) > 1 - r, \xi(x_n, t) < r, \eta(x_n, t) < r, \forall n \in N. (\text{the set of all natural numbers}).$$

Definition 3.9.

1. A sequence $\{x_n\}$ of points in an NNLS $(V, N, *, \diamond)$ is said to be a Cauchy sequence if given $\epsilon \in (0, 1), t > 0$ there exist $n_0 \in N$ (the set of all natural numbers) such that

$$\rho(x_n - x_m, t) > 1 - r, \xi(x_n - x_m, t) < r, \eta(x_n - x_m, t) < r \forall m, n \in n_0.$$

(or)

$$\lim_{n,m \rightarrow \infty} \rho(x_n - x_m, t) = 1, \lim_{n,m \rightarrow \infty} \xi(x_n - x_m, t) = 0, \lim_{n,m \rightarrow \infty} \eta(x_n - x_m, t) = 0, \text{ as } t \rightarrow \infty$$

2. Let $\{x_n\}$ be Cauchy sequence of points in a normed linear space $(V, \|\bullet\|)$. Then

$$\lim_{n,m \rightarrow \infty} \|x_n - x_m\| = 0 \text{ hold.}$$

Example 3.10. For $t > 0$, let $\rho(x, t) = \frac{t}{t + \|x\|}, \xi(x, t) = \frac{\|x\|}{t + \|x\|}, \eta(x, t) = \frac{\|x\|}{t}$. Then $(V, N, *, \diamond)$ is an NNLS. Now,

$$\lim_{n,m \rightarrow \infty} \frac{t}{t + \|x_n - x_m\|} = 1, \lim_{n,m \rightarrow \infty} \frac{\|x_n - x_m\|}{t + \|x_n - x_m\|} = 0, \lim_{n,m \rightarrow \infty} \frac{\|x_n - x_m\|}{t} = 0$$

$$\lim_{n,m \rightarrow \infty} \rho(x_n - x_m, t) = 1, \lim_{n,m \rightarrow \infty} \xi(x_n - x_m, t) = 0, \lim_{n,m \rightarrow \infty} \eta(x_n - x_m, t) = 0, \text{ as } t \rightarrow \infty$$

This shows that $\{x_n\}$ is a Cauchy sequence in the NNLS $(V, N, *, \diamond)$.

Theorem 3.11. Every convergent sequence of points in a NNLS $(V, N, *, \diamond)$ is a Cauchy sequence.

Proof:

Let $\{x_n\}$ be a convergent sequence of points in a NNLS $(V, N, *, \diamond)$ so that $\lim_{n \rightarrow \infty} x_n = x$. Then for $t > 0$,

$$\lim_{n,m \rightarrow \infty} \rho(x_n - x_m, t) = \lim_{n,m \rightarrow \infty} \rho(x_n - x_m + x - x, t) = \lim_{n,m \rightarrow \infty} \rho[(x_n - x) + (x - x_m), t],$$

$$\geq \lim_{n \rightarrow \infty} \rho\left(x_n - x, \frac{t}{2}\right) = * \lim_{m \rightarrow \infty} \rho\left(x - x_m, \frac{t}{2}\right) \text{ [by (6) in Definition 3.2]}$$

$$= \lim_{n \rightarrow \infty} \rho\left(x_n - x, \frac{t}{2}\right) = * \lim_{m \rightarrow \infty} \rho\left(x_m - x, \frac{t}{2}\right) \text{ [by (5) in Definition 3.2]}$$

$$= 1 * 1 = 1 \text{ as } t \rightarrow \infty.$$

$$\text{So, } \lim_{n,m \rightarrow \infty} \rho(x_n - x_m, t) = 1.$$

$$\text{Again } \lim_{n,m \rightarrow \infty} \xi(x_n - x_m, t) = \lim_{n,m \rightarrow \infty} \xi(x_n - x_m + x - x, t) = \lim_{n,m \rightarrow \infty} \xi[(x_n - x) + (x - x_m), t]$$

$$\geq \lim_{n \rightarrow \infty} \xi\left(x_n - x, \frac{t}{2}\right) = \diamond \lim_{m \rightarrow \infty} \xi\left(x - x_m, \frac{t}{2}\right) \text{ [by (11) in Definition 3.2]}$$

$$= \lim_{n \rightarrow \infty} \xi\left(x_n - x, \frac{t}{2}\right) = \diamond \lim_{m \rightarrow \infty} \xi\left(x_m - x, \frac{t}{2}\right) \text{ [by (10) in Definition 3.2]}$$

$$= 0 \diamond 0 = 0 \text{ as } t \rightarrow \infty.$$

$$\text{So } \lim_{n,m \rightarrow \infty} \xi(x_n - x_m, t) = 0 \text{ and similarly } \lim_{n,m \rightarrow \infty} \eta(x_n - x_m, t) = 0.$$

Hence, $\{x_n\}$ is a Cauchy Sequence.

Example 3.12. The following example will clarify that the inverse of the Theorem 3.11 may not be true. Let $R_1 = \left\{\frac{1}{n} \mid n \in \mathbb{N}\right\}$ (the set of natural numbers) be a subset of real numbers and $\|x\| = |x|$. With respect to the neutrosophic norm defined in Example.3.10, obviously $(\mathbb{R}, \mathbb{N}, *, \diamond)$ is an NNLS. Now

$$\lim_{n,m \rightarrow \infty} \frac{t}{t + \|x_n - x_m\|} = \lim_{n,m \rightarrow \infty} \frac{t}{t + \left|\frac{1}{n} - \frac{1}{m}\right|} = 1,$$

$$\lim_{n,m \rightarrow \infty} \frac{\|x_n - x_m\|}{t + \|x_n - x_m\|} = \lim_{n,m \rightarrow \infty} \frac{\left|\frac{1}{n} - \frac{1}{m}\right|}{t + \left|\frac{1}{n} - \frac{1}{m}\right|} = 0,$$

and,

$$\lim_{n,m \rightarrow \infty} \frac{\|x_n - x_m\|}{t} = \lim_{n,m \rightarrow \infty} \frac{\left|\frac{1}{n} - \frac{1}{m}\right|}{t} = 0,$$

Thus $\{x_n\}$ is a Cauchy Sequence of points in the NNLS $(\mathbb{R}, \mathbb{N}, *, \diamond)$. But

$$\lim_{n \rightarrow \infty} (x_n - x_k, t) = \lim_{n \rightarrow \infty} \frac{\left|\frac{1}{n} - \frac{1}{k}\right|}{t + \left|\frac{1}{n} - \frac{1}{k}\right|} \neq 0.$$

This shows that the Cauchy Sequence $\{x_n\}$ is not convergent in that NNLS.

Theorem 3.13. In an NNLS $(V, N, *, \diamond)$, if $\{x_n\}, \{y_n\}$ are Cauchy Sequence of vectors and $\{\lambda_n\}$ is Cauchy Sequence of scalars in an NNLS $(V, N, *, \diamond)$, then $\{x_n + y_n\}$ and $\{\lambda_n y_n\}$ are also Cauchy Sequence in NNLS $(V, N, *, \diamond)$.

Proof:

For $t > 0$, we have,

$$\lim_{n,m \rightarrow \infty} \rho(x_n - x_m, t) = 1, \lim_{n,m \rightarrow \infty} \xi(x_n - x_m, t) = 0, \lim_{n,m \rightarrow \infty} \eta(x_n - x_m, t) = 0, \text{ as } t \rightarrow \infty$$

And

$$\lim_{n,m \rightarrow \infty} \rho(y_n - y_m, t) = 1, \lim_{n,m \rightarrow \infty} \xi(y_n - y_m, t) = 0, \lim_{n,m \rightarrow \infty} \eta(y_n - y_m, t) = 0, \text{ as } t \rightarrow \infty$$

$$\begin{aligned} \lim_{n,m \rightarrow \infty} \rho[(x_n + y_n) - (x_m + y_m), t] &= \lim_{n,m \rightarrow \infty} \rho[(x_n - x_m) + (y_n - y_m), t] \\ &\geq \lim_{n,m \rightarrow \infty} \rho\left(x_n - x_m, \frac{t}{2}\right) * \lim_{n,m \rightarrow \infty} \rho\left(y_n - y_m, \frac{t}{2}\right) = 1 * 1 = 1 \text{ as } t \rightarrow \infty \end{aligned}$$

Hence, $\lim_{n,m \rightarrow \infty} \rho[(x_n + y_n) - (x_m + y_m), t] = 1$ as $t \rightarrow \infty$

$$\begin{aligned} \lim_{n,m \rightarrow \infty} \xi[(x_n + y_n) - (x_m + y_m), t] &= \lim_{n,m \rightarrow \infty} \xi[(x_n - x_m) + (y_n - y_m), t] \\ &\leq \lim_{n,m \rightarrow \infty} \xi\left(x_n - x_m, \frac{t}{2}\right) \diamond \lim_{n,m \rightarrow \infty} \xi\left(y_n - y_m, \frac{t}{2}\right) = 0 \diamond 0 = 0 \text{ as } t \rightarrow \infty \end{aligned}$$

So, $\lim_{n,m \rightarrow \infty} \xi[(x_n + y_n) - (x_m + y_m), t] = 0$ as $t \rightarrow \infty$

Similarly,

$$\lim_{n,m \rightarrow \infty} \eta[(x_n + y_n) - (x_m + y_m), t] = 0 \text{ as } t \rightarrow \infty$$

This ends the first part. For the next part,

$$\lim_{n,m \rightarrow \infty} \rho[(\lambda_m y_m - \lambda_n y_n), t] = \lim_{n,m \rightarrow \infty} \rho[(\lambda_m y_m - \lambda_n y_n) + (\lambda_m y_n - \lambda_m y_n), t]$$

$$= \lim_{n,m \rightarrow \infty} \rho[(\lambda_m(y_m - y_n) + y_n(\lambda_m - \lambda_n), t] \geq \lim_{n,m \rightarrow \infty} \rho\left[\left((y_m - y_n), \frac{t}{2|\lambda_m|}\right)\right] * \rho\left(y_n, \frac{t}{2|\lambda_m - \lambda_n|}\right)$$

Since $|\lambda_m - \lambda_n| \rightarrow 0$ as $m, n \rightarrow \infty$, So $|\lambda_m - \lambda_n| \neq 0$. Again $\{y_n\}$ being Cauchy sequence is bounded.

Hence, $\lim_{n,m \rightarrow \infty} \rho[(\lambda_m y_m - \lambda_n y_n), t] = 1$ as $t \rightarrow \infty$. Further,

$$\begin{aligned} \lim_{n,m \rightarrow \infty} \xi[(\lambda_m y_m - \lambda_n y_n), t] &= \lim_{n,m \rightarrow \infty} \xi[(\lambda_m y_m - \lambda_n y_n) + (\lambda_m y_n - \lambda_m y_n), t] \\ &= \lim_{n,m \rightarrow \infty} \xi[(\lambda_m(y_m - y_n) + y_n(\lambda_m - \lambda_n), t] \leq \lim_{n,m \rightarrow \infty} \xi\left[\left((y_m - y_n), \frac{t}{2|\lambda_m|}\right)\right] \diamond \xi\left(y_n, \frac{t}{2|\lambda_m - \lambda_n|}\right) \end{aligned}$$

By similar argument, $\lim_{n,m \rightarrow \infty} \xi[(\lambda_m y_m - \lambda_n y_n), t] = 0$ as $t \rightarrow \infty$ and finally,

$$\lim_{n,m \rightarrow \infty} \eta[(\lambda_m y_m - \lambda_n y_n), t] = 0 \text{ as } t \rightarrow \infty$$

Hence, the 2nd part is complete.

Definition 3.14. Let $(V, N, *, \diamond)$ be a NNLS and Δ_V be the collection of all points on V . Then $(V, N, *, \diamond)$ is said to be a complete NNLS if every Cauchy sequence of points in Δ_V converges to a point of Δ_V .

Theorem 3.15. In an NNLS $(V, N, *, \diamond)$, if every Cauchy sequence has a convergent subsequence then $(V, N, *, \diamond)$ is a complete NNLS.

Proof: Let $\{x_{n_k}\}$ be a convergent subsequence of a Cauchy sequence $\{x_n\}$ in an NNLS $(V, N, *, \diamond)$ such that $\{x_{n_k}\} \rightarrow x \in V$. Since $\{x_n\}$ be a Cauchy sequence in $(V, N, *, \diamond)$, given $t > 0$

$$\lim_{n,k \rightarrow \infty} \rho\left(x_n - x_{n_k}, \frac{t}{2}\right) = 1, \lim_{n,k \rightarrow \infty} \xi\left(x_n - x_{n_k}, \frac{t}{2}\right) = 0, \lim_{n,k \rightarrow \infty} \eta\left(x_n - x_{n_k}, \frac{t}{2}\right) = 0, \text{ as } t \rightarrow \infty$$

Again since $\{x_{n_k}\}$ converges to x , then

$$\lim_{n,k \rightarrow \infty} \rho\left(x_{n_k} - x, \frac{t}{2}\right) = 1, \lim_{n,k \rightarrow \infty} \xi\left(x_{n_k} - x, \frac{t}{2}\right) = 0, \lim_{n,k \rightarrow \infty} \eta\left(x_{n_k} - x, \frac{t}{2}\right) = 0, t \rightarrow \infty$$

Now,

$$\rho(x_n - x, t) = \rho(x_n - x_{n_k} + x_{n_k} - x, t) \geq \rho\left(x_n - x_{n_k}, \frac{t}{2}\right) * \rho\left(x_{n_k} - x, \frac{t}{2}\right).$$

It implies

$$\lim_{n \rightarrow \infty} \rho(x_n - x, t) = 1$$

Further,

$$\xi(x_n - x, t) = \xi(x_n - x_{n_k} + x_{n_k} - x, t) \leq \xi\left(x_n - x_{n_k}, \frac{t}{2}\right) \diamond \xi\left(x_{n_k} - x, \frac{t}{2}\right).$$

It implies $\lim_{n \rightarrow \infty} \xi(x_n - x, t) = 0$.

It implies $\lim_{n \rightarrow \infty} \eta(x_n - x, t) = 0$.

This shows that x_n converges to $x \in V$ and thus the theorem is proved.

Theorem 3.16. In an NNLS $(V, N, *, \diamond)$, every convergent sequence is a Cauchy sequence.

Proof: Let $\{x_n\}$ be a convergent sequence in the NNLS $(V, N, *, \diamond)$ with $\lim_{n \rightarrow \infty} x_n = x$. Let $s, t \in \mathbb{R}^+$ and $p = 1, 2, 3, \dots$, we have

$$\rho(x_{n+p} - x_n, s + t) = \rho(x_{n+p} - x + x - x_n, s + t)$$

$$\begin{aligned} &\geq \rho(x_{n+p} - x, s) * \rho(x - x_n, t) \\ &= \rho(x_{n+p} - x, s) * \rho(x_n - x, t) \end{aligned}$$

Taking limit, we have

$$\begin{aligned} \lim_{n \rightarrow \infty} \rho(x_{n+p} - x_n, s + t) &\geq \lim_{n \rightarrow \infty} \rho(x_{n+p} - x, s) * \lim_{n \rightarrow \infty} \rho(x_n - x, t) \\ &= 1 * 1 = 1 \end{aligned}$$

$$\lim_{n \rightarrow \infty} \rho(x_{n+p} - x_n, s + t) = 1 \forall s, t \rightarrow \infty \text{ and } p = 1, 2, 3 \dots$$

Again,

$$\begin{aligned} \xi(x_{n+p} - x_n, s + t) &\geq \xi(x_{n+p} - x + x - x_n, s + t) \\ &\geq \xi(x_{n+p} - x, s) \diamond \xi(x - x_n, t) \\ &= \xi(x_{n+p} - x, s) \diamond \xi(x_n - x, t) \end{aligned}$$

Taking limit, we have

$$\begin{aligned} \lim_{n \rightarrow \infty} \xi(x_{n+p} - x_n, s + t) &\geq \lim_{n \rightarrow \infty} \xi(x_{n+p} - x, s) \diamond \lim_{n \rightarrow \infty} \xi(x_n - x, t) \\ &= 0 \diamond 0 = 0 \end{aligned}$$

$$\lim_{n \rightarrow \infty} \xi(x_{n+p} - x_n, s + t) = 0 \forall s, t \rightarrow \infty \text{ and } p = 1, 2, 3 \dots$$

Similarly,

$$\lim_{n \rightarrow \infty} \eta(x_{n+p} - x_n, s + t) = 0 \forall s, t \rightarrow \infty \text{ and } p = 1, 2, 3 \dots$$

Thus, $\{x_n\}$ is a Cauchy sequence in the NNLS $(V, N, *, \diamond)$.

Theorem 3.17. Let $(V, N, *, \diamond)$ be an NNLS, such that every Cauchy sequence in $(V, N, *, \diamond)$ has a convergent subsequence. Then $(V, N, *, \diamond)$ is complete.

Proof: Let $\{x_n\}$ be a Cauchy sequence in $(V, N, *, \diamond)$ and $\{x_{n_k}\}$ be a subsequence of $\{x_n\}$ the converges to $x \in V$ and $t > 0$. Since $\{x_n\}$ is a Cauchy sequence in $(V, N, *, \diamond)$, we have

$$\lim_{n, k \rightarrow \infty} \rho\left(x_n - x_k, \frac{t}{2}\right) = 1, \lim_{n, k \rightarrow \infty} \xi\left(x_n - x_k, \frac{t}{2}\right) = 0, \lim_{n, k \rightarrow \infty} \eta\left(x_n - x_k, \frac{t}{2}\right) = 0$$

Again since $\{x_{n_k}\}$ converges to x , we have

$$\lim_{k \rightarrow \infty} \rho\left(x_{n_k} - x, \frac{t}{2}\right) = 1, \lim_{k \rightarrow \infty} \xi\left(x_{n_k} - x, \frac{t}{2}\right) = 0, \lim_{k \rightarrow \infty} \eta\left(x_{n_k} - x, \frac{t}{2}\right) = 0.$$

Now,

$$\begin{aligned} \rho(x_n - x, t) &= \rho(x_n - x_{n_k} + x_{n_k} - x, t) \\ &\geq \rho\left(x_n - x_{n_k}, \frac{t}{2}\right) * \rho\left(x_{n_k} - x, \frac{t}{2}\right) \end{aligned}$$

$$\lim_{n \rightarrow \infty} \rho(x_n - x, t) = 1$$

Again, we see that

$$\begin{aligned} \xi(x_n - x, t) &= \xi(x_n - x_{n_k} + x_{n_k} - x, t) \\ &\leq \xi\left(x_n - x_{n_k}, \frac{t}{2}\right) \diamond \xi\left(x_{n_k} - x, \frac{t}{2}\right) \end{aligned}$$

$$\lim_{n \rightarrow \infty} \xi(x_n - x, t) = 0$$

Similarly, $\lim_{n \rightarrow \infty} \eta(x_n - x, t) = 0$

Thus, $\{x_n\}$ converges to x in $(V, N, *, \diamond)$ and hence is complete.

Theorem 3.18. Every finite dimensional NNLS satisfying the condition.

$$\left. \begin{matrix} a \diamond a = a \\ a * a = a \end{matrix} \right\} \forall a \in [0,1] \dots \dots \dots (1)$$

$\rho(x, t) > 0 \forall t > 0 \rightarrow x = 0 \dots \dots \dots (2)$ is complete.

Proof: Let $(V, N, *, \diamond)$ be a finite dimensional NNLS satisfying the condition (1) and (2). Also, let $\dim V = k$ and e_1, e_2, \dots, e_k be a basis of V .

Consider $\{x_n\}$ as an arbitrary Cauchy sequence in (V, A) .

Let $x_n = \beta_1^{(n)}e_1 + \beta_2^{(n)}e_2 + \dots + \beta_k^{(n)}e_k$ where $\beta_1^{(n)}, \beta_2^{(n)}, \dots, \beta_k^{(n)}$ suitable scalars are. Then by the same calculation, there exist $\beta_1, \beta_2, \dots, \beta_k \in F$ such that the sequence $\{\beta_i^{(n)}\}_n$ converges to β_i for $i = 1, 2, \dots, k$. clearly $x = \rho(\sum_{i=1}^k \beta_i^{(n)} e_i) \in V$

$$\begin{aligned} \rho(x_n - x, t) &= \rho\left(\sum_{i=1}^k \beta_i^{(n)} e_i - \sum_{i=1}^k \beta_i e_i, t\right) \\ &= \rho\left(\sum_{i=1}^k (\beta_i^{(n)} - \beta_i) e_i, t\right) \\ &\geq \rho\left(\left(\beta_1^{(n)} - \beta_1\right) e_1, \frac{t}{k}\right) * \dots * \rho\left(\left(\beta_k^{(n)} - \beta_k\right) e_k, \frac{t}{k}\right) \\ &= \rho\left(e_1, \frac{t}{k|\beta_1^{(n)} - \beta_1|}\right) * \dots * \rho\left(e_k, \frac{t}{k|\beta_k^{(n)} - \beta_k|}\right) \end{aligned}$$

Since $\lim_{n \rightarrow \infty} \frac{t}{k|\beta_i^{(n)} - \beta_i|} = \infty$, we see that $\lim_{n \rightarrow \infty} \rho\left(e_i, \frac{t}{k|\beta_i^{(n)} - \beta_i|}\right) = 1$

$$\lim_{n \rightarrow \infty} \rho(x_n - x, t) \geq 1 * \dots * 1 = 1 \forall t > 0$$

$$\lim_{n \rightarrow \infty} \rho(x_n - x, t) = 1 \forall t > 0.$$

Again, for all $t > 0$

$$\begin{aligned} \xi(x_n - x, t) &= \xi\left(\sum_{i=1}^k \beta_i^{(n)} e_i - \sum_{i=1}^k \beta_i e_i, t\right) \\ &= \xi\left(\sum_{i=1}^k (\beta_i^{(n)} - \beta_i) e_i, t\right) \\ &\leq \xi\left(\left(\beta_1^{(n)} - \beta_1\right) e_1, \frac{t}{k}\right) \diamond \dots \diamond \xi\left(\left(\beta_k^{(n)} - \beta_k\right) e_k, \frac{t}{k}\right) \\ &= \xi\left(e_1, \frac{t}{k|\beta_1^{(n)} - \beta_1|}\right) \diamond \dots \diamond \xi\left(e_k, \frac{t}{k|\beta_k^{(n)} - \beta_k|}\right) \end{aligned}$$

Since $\lim_{n \rightarrow \infty} \frac{t}{k|\beta_i^{(n)} - \beta_i|} = \infty$, we see that $\lim_{n \rightarrow \infty} \xi\left(e_i, \frac{t}{k|\beta_i^{(n)} - \beta_i|}\right) = 0$

$$\lim_{n \rightarrow \infty} \xi(x_n - x, t) \leq 0 \diamond \dots \diamond 0 = 0 \forall t > 0$$

$$\lim_{n \rightarrow \infty} \xi(x_n - x, t) = 0 \forall t > 0.$$

Similarly, Since $\lim_{n \rightarrow \infty} \frac{t}{k|\beta_i^{(n)} - \beta_i|} = \infty$, we see that $\lim_{n \rightarrow \infty} \eta\left(e_i, \frac{t}{k|\beta_i^{(n)} - \beta_i|}\right) = 0$

Thus, we see that $\{x_n\}$ is an arbitrary Cauchy Sequence that converges to $x \in V$, Hence the NNLS $(V, N, *, \diamond)$ is complete.

Theorem 3.19. Let $(V, N, *, \diamond)$ be an NNLS satisfying the condition equation (1). Every Cauchy sequence in $(V, N, *, \diamond)$ is bounded.

Proof: Let $\{x_n\}$ be a Cauchy sequence in the NNLS $(V, N, *, \diamond)$. Then we have

$$\left. \begin{aligned} \lim_{n \rightarrow \infty} \rho(x_{n+p} - x, t) &= 1 \\ \lim_{n \rightarrow \infty} \xi(x_{n+p} - x, t) &= 0 \\ \lim_{n \rightarrow \infty} \eta(x_{n+p} - x, t) &= 0 \end{aligned} \right\} \forall t > 0, p = 1, 2, \dots$$

Choose a fixed r_0 with $0 < r_0 < 1$. Now we see that

$$\lim_{n \rightarrow \infty} \rho(x_n - x_{n+p}, t) = 1 > r_0 \forall t > 0, p = 1, 2, \dots$$

For $t' > 0 \exists n_0 = n_0(t')$ such that $\rho(x_n - x_{n+p}, t') > r_0 \forall n \geq n_0, p = 1, 2, \dots$

Since, $\lim_{n \rightarrow \infty} \rho(x, t) = 1$, we have for each $x \in t > 0$ such that

$$\rho(x_n, t) > r_0 \forall t > t_i, n = 1, 2, \dots$$

Let $t_0 = t' + \max\{t_1, t_2, \dots, t_{n_0}\}$ Then,

$$\begin{aligned} \rho(x_n, t_0) &\geq \rho(x_n, t' + t_{n_0}) \\ &= \rho(x_n - x_{n_0} + x_{n_0}, t' + t_{n_0}) \\ &\geq \rho(x_n - x_{n_0}, t') * \rho(x_{n_0}, t_{n_0}) \\ &> r_0 * r_0 = r_0 \forall n \geq n_0 \end{aligned}$$

Thus, we have

$$\rho(x_n, t_0) > r_0 \forall n \geq n_0$$

Also, $\rho(x_n, t_0) \geq \rho(x_n, t_n) > r_0 \forall n = 1, 2, \dots, n_0$

So, we have,

$$\rho(x_n, t_0) > r_0 \forall n = 1, 2, \dots \dots \dots (1)$$

Now, $\lim_{n \rightarrow \infty} \xi(x_n - x_{n+p}, t) = 0 < (1 - r_0) \forall t > 0, p = 1, 2, \dots$

For $t' > 0 \exists n'_0 = n'_0(t')$ such that $\xi(x_n - x_{n+p}, t') < (1 - r_0) \forall n \geq n'_0, p = 1, 2, \dots$

Since, $\lim_{n \rightarrow \infty} \xi(x, t) = 0$, we have for each $x_i \exists t'_i > 0$ such that

$$\xi(x_n, t) < (1 - r_0) \forall t > t'_i, n = 1, 2, \dots$$

Let $t'_0 = t' + \max\{t'_1, t'_2, \dots, t'_{n'_0}\}$ Then,

$$\begin{aligned} \xi(x_n, t'_0) &\leq \xi(x_n, t' + t'_{n'_0}) \\ &= \xi(x_n - x_{n'_0} + x_{n'_0}, t' + t'_{n'_0}) \\ &\leq \xi(x_n - x_{n'_0}, t') \diamond \xi(x_{n'_0}, t'_{n'_0}) \end{aligned}$$

$$< (1 - r_0) \diamond (1 - r_0) = (1 - r_0) \forall n > n'_0$$

Thus, we have

$$\xi(x_n, t'_0) < (1 - r_0) \forall n > n'_0$$

Also, $\xi(x_n, t'_0) \leq \xi(x_n, t'_n) < (1 - r_0) \forall n = 1, 2, \dots, n'_0$

So, we have,

$$\xi(x_n, t'_0) < (1 - r_0) \forall n = 1, 2, \dots \dots \dots \dots \dots (2)$$

Similarly, we prove

$$\eta(x_n, t'_0) < (1 - r_0) \forall n = 1, 2, \dots \dots \dots \dots \dots (3)$$

Let $t''_0 = \max\{t_0, t'_0\}$. Hence from (1),(2), and (3) we see that

$$\left. \begin{matrix} \rho(x_n, t''_0) > r_0 \\ \xi(x_n, t''_0) < (1 - r_0) \\ \eta(x_n, t''_0) < (1 - r_0) \end{matrix} \right\} \forall n = 1, 2, \dots$$

This implies that $\{x_n\}$ is bounded in $(V, N, *, \diamond)$.

4. Conclusion

4.1 Concluding Remarks:

The aim of the present work is to introduce a Neutrosophic norm on a linear space. Also, the convergence of sequence, characteristic of Cauchy sequence in NNLS (Neutrosophic normed linear space) have been studied here. These are illustrated by suitable examples. Their related properties and structural characteristic have been discussed.

4.2 Future Scope:

This studied provides the structure of NNLS (Neutrosophic normed linear space) on a NLS (Normed linear space) with help of NS (Neutrosophic Set). In future this study leads to the extension of the following ideas:

- Neutrosophic-n-Normed Linear Space
- Finite Dimensional Neutrosophic-n-Normed Linear Space
- Neutrosophic Metric Space

Funding: This research received no external funding

Conflicts of Interest: The authors declare no conflict of interest.

References:

1. Abdel Basset. M., Chang. V., and Gamal. A., (2019). Evaluation of the green supply chain management practices: A novel Neutrosophic approach. Computers in Industry, 108, 210 220.
2. Abdel Basset. M., Chang. V., and Gamal. A & Smarandacha. F., (2019). An Integrated Neutrosophic ANP & VIKOR method for achieving sustainable supplier selection: A case study in importing field. Computers in Industry, 106, 94 110.
3. Abdel Basset. M., Mohamed. R., Zaied, A.E.N.H., & Smarandacha. F., (2019). A hybrid plithogenic Decision Making Approach with Quality Function Deployment for selecting supply chain sustainability Metrics. Symmetry, 11(7), 903.

4. Abdel Basset. M., Manogaran. G., Gamal. A & Smarandacha. F., (2019). A group decision making frame work based on Neutrosophic TOPSIS approach for smart medical device selection. Journal of medical systems,43(2),38.
5. Abdel Basset. M., Nabeeh. N.A., El Ghareeb. H.A., & Aboelfetouh. A. (2019). Utilising Neutrosophic theory to solve transition difficulties of IOT based enterprises. Enterprise Information system, 1-21.
6. Abdel Basset. M., Saleh, M., N.A., Gamal, A., & Smarandache, F., (2019). An approach of TOPSIS technique for developing supplier selection with group decision making under type 2 Neutrosophic number. Applied soft computing, 77,438 452.
7. Abdel-Basset, M., El-Hoseny, M., Gamal, A., & Smarandache, F., (2019). A Novel Model for Evaluation Hospital Medical Care Systems Based on Plithogenic Sets. Artificial Intelligence in Medicine, 101710.
8. Abdel-Basset, M., Manogaran, G., Gamal, A., & Chang, V., (2019). A Novel Intelligent Medical Decision Support Model Based on Soft Computing and IoT. IEEE Internet of Things Journal.
9. Abdel-Basset, M., Atef, A., & Smarandache, F. (2019). A hybrid Neutrosophic multiple criteria group decision making approach for project selection. Cognitive Systems Research, 57, 216-227.
10. Abdel-Basset, M., Gamal, A., Manogaran, G., & Long, H. V. (2019). A novel group decision making model based on Neutrosophic sets for heart disease diagnosis. Multimedia Tools and Applications, 1-26.
11. Atanassov, K.T., Intuitionistic fuzzy sets, Theory and applications. Studies in Fuzziness and soft Computing,35. Physica- Verlag, Heidelberg,1999.
12. Atanassov, K.T., More on Intuitionistic fuzzy sets, Fuzzy sets and Systems 33(1989), no. 1, 37-45.
13. Atanassov, K.T., Intuitionistic fuzzy sets, Fuzzy sets and systems 20 (1986) 87-96.
14. Bag, T., Samanta, S.K., Finite dimensional fuzzy normed linear spaces, The journal of fuzzy Mathematics 11(3) (2003) 687-705.
15. Bag, T., Samanta, S.K., Fuzzy bounded linear operators, Fuzzy Sets and Systems 151 (2005) 513-547.
16. Bag, T., Samanta, S.K., Fixed point theorems on fuzzy normed linear spaces, Information science 176 (2006) 2910-2931.
17. Bag, T., Samanta, S.K., Finite dimensional fuzzy normed linear spaces, Annals of fuzzy Mathematics and Informatics, 6(2), (2013),271-283.
18. Cheng, S.C., Modeson, J.N., Fuzzy linear operators and fuzzy normed linear spaces, Bull.Cal.Math.Soc 86 (1994) 429-436.
19. Felbin, C., Finite dimensional fuzzy normed linear spaces, Fuzzy sets and Systems 48(1992) 239-248.
20. Felbin, C., The completion of fuzzy normed linear space, Journal of Analysis and Applications, 174(1993), No.2,428-440.
21. Felbin, C., Finite dimensional fuzzy normed linear spaces IIb, Journal of Analysis, 7 (1999), 117-131.
22. Gu, W., & Lu, T., 1992, Fuzzy linear spaces, Fuzzy Sets and Systems, vol 49, pp.377-380.
23. Gahler, S., 1965, Lineare 2-normierte Raume, Math.Nachr., Vol 28, pp.1-43.
24. George, J., Klir and Bo Yuan, Fuzzy sets and Fuzzy logic, Printice-Hall of India Private Limited New Delhi-110001.
25. Issac, P., and Maya, K., On the Intuitionistic fuzzy normed linear space $(\mathbf{R}^n, \mathbf{A})$, Inter. J. Fuzzy Math. And Systems, 2(2),(2012),95-110.
26. Krishna, S.V., and Sarma, K.K.M., Separation of fuzzy normed linear spaces, Fuzzy sets and Systems 63 (1994), no.2,207-217.
27. Kim, S.S., and Cho, Y.J., strict convexity in linear n-normed spaces, Demonstration Math., 29 (1996), No.4,739-744.
28. Lubczonok, P., Fuzzy vector spaces, Fuzzy Sets and Systems, 38 (1990), 329-343.
29. Maji, P.K., Neutrosophic set, Annals of Fuzzy Mathematics and Informatics, 5(1), (2013), 157-168.
30. Rhie, G.S., Choi, B.M., and Kim, D.S., On the completeness of fuzzy normed linear spaces, Math. Japon.45 (1997), no.1, 33-37.

31. Shih-Chuan Cheng and Jhon N.Moderson, Fuzzy linear operators and Fuzzy Normed linear spaces, Bull. Cal. Math. Soc.86 (1994) 429-436.
32. Smarandache, F., Neutrosophy, Neutrosophic Probability, Set and logic, Amer.Res. Press, Rehoboth, USA., (1998), p. 105,<http://fs.gallup.unm.edu/eBOOK-neutrosophics4.pdf> (fourth version).
33. Smarandache, F., Neutrosophic set, a generalization of the intuitionistic fuzzy sets, Inter. J.Pure Appl.Math.,24,(2005), 287-297.
34. Samanta T.K., and Jebril, I.H., Finite dimensional intuitionistic fuzzy normed linear spaces, Int.J.Open Problems Compt. Math.,2(4),(2009),574-591.
35. Santhosh C.P., & Ramakrishnan, T.V., 2011, Norm and inner product on fuzzy linear spaces over fuzzy fields, Iranian Journal of fuzzy systems, vol 8, no.1, pp.135-144.
36. Sandeep Kumar, Some results on Interval valued Intuitionistic Fuzzy n-Normed linear space. International journal of Mathematics Archive 168-178.
37. Sun, S., Interval-valued fuzzy linear spaces, Available form: www.polytech.univsavoie.fr/fileadmin/polytech-autres-sites/listic/busefal/papers/74-09.pdf.
38. Vijayabalaji, S., Thillaigovindan, N., and Bae Jun, Y., Intuitionistic fuzzy n-normed linear spaces, Bull. Korean Math. Soc. 44 (2007) 291-308.
39. Vijayabalaji, S., Anita, S., Shanthi & Thillaigovindan, N., Interval valued fuzzy n-normed linear space, Journal of Fundamental Sciences. 10(2007).
40. Zadeh, L.A., Fuzzy sets, information and Control, 89 (1965), 338-358.

Received: Sep 09, 2019. Accepted: Nov 30, 2019